Electric Circuits Crossword

10

1"

14

16

Across

4 A safety devxice that bredk a circuit
(4)
5 The unit that resistance is measured

in. (4) Onpns L1

7 A switch/that o a fivcuipwhen

g’ mjuch cigrent s flowing. (7 prtaie—

8 An electric discharge from the sky, .
to the ground during a storm. (9) 1 W\V‘&

12 The unit that current is measured in

(for short). (4)
15 A device that resists the flow of

17

17 A material that doesn't conduct

18 A device that will open or close a
circuit. (6)

19 The flow of electrons through a
material is called electric

* RNy . (7)
Down .

1 The charge on a proton. (8) ?OS N

2 The charge on an electron. (8) (N Wive.

3 A type efcircuirwhere £iyrent By'passes most fesigtance-and She-
latgg, dangeroQs cureents 2 (5) )

6 A circuit with only one path through which electrons flow. (6) S ¢§
9 A voltage supply used in flashlights and many toys. (7) \gaﬁf(ﬂ%"

10 Electricity is the movement of €\
conductor. (9)

11 A path through which electric current flows. (7) A6 A Y-

13 A circuit with more than one path through which electrons can w
flow. (8)

14 A material that conducts electricity will. (9) {onduchoe
16 Kind of electricity resulting from a build up of charged SWTC.» Q}ema?

18

C yrons through a

particles. (6)

WKW, SCIENCE-TEACBERS.CON

electricity in a circuit. (8) ¢TSSy

electricity well. (9) NSOl odror
S



o] w] o] —[w|wn
E ACECEEME
T H E
lojz[ofx]+] [of<{r|[[w]a]>] -
w| o | o S
x| [Z] —] [+ e
[ Zlwlol<|-[-[>]w] [o]-][<]-]-TO m
i I el N R L - &
o | [H] [e[=lxlolo]-[H [H] [z i
© [o]olz| a[ o] o] [ o] =
lefof o] ][ —[>]w] i - |
E ERE
[w][ulo[-]e]o]z[w] [O]




Charge problems

1

~k7a) Every atom contains a . §

Complete the following sentences using words from the list below.

equal negative opposite positive zero
a) Aprotonhas ................. charge. (1 b
b) Aneutron has ................. charge. =2r T
c) Anelectronhas ................. charge. (=)

d) A proton and an electron have Q@M and ...QP@QS\.}&harge.

Complete the following sentences using words from the list below.

electron(s) ion(s) neutron(s) nucleus {nuclei) proton(s)

Moy
(fuch is positively charged.

e) The nucleus of an atom is composed of .. P!’GW$ and
fy The ER.Cans.. in an atom move about in the space surrounding the nucleus.

g) An uncharged atom has equal numbers of .. P( m&nd M

h) A charged atom is called an ...} ...

i)An uncharged atom becomes charged as a result of transferring Q}(;CM@ to or from it.
In an experiment, an insulator becomes negatively charged when it is rubbed with a dry cloth.

a) In terms of electron transfer, explain why the insulator becomes negatively charged.

eleckony e adddoh

j)Explain why the inSL‘Jfator does not lose its charge. ‘““::> d;{SCU\SS

WI
Aves NOT aillow €~ o
Plow ea.s{)g,

A positively charged object, X, and another charged object, Y, repel each other.

\) (/\ﬁ \e Chnerpes rt/@exqv)

k) Y is removed and a negatively charged object, Z, is brought near to X. State whether X and Z

attract or repel each other. L,g,(s) OQ?O&L@ U‘\Q/&;«,S athvach

a) What is the type of charge on Y?



Review Guide

Name:
Mu!tipie Choices
1.

a, Al
b. Salt Water

2 Hxpu have ape
a. Pure watg
b. Gla

3 Which of the following is not a voltage source?
A T Y
a. Battery c. solar cell
@Gasoline d. generator MO MM'Q-S
| A static discharge differs from an electric current in that a static discharge »é? C/GW
a. Involves the movement of ions as well as electrons oo ﬁ\\)mw\u{v“\
b Is a flow of electrons. 5 \ \W
Lasts for only a fraction of a second —
2 Results because a force is exerted on the electrons S’D \ ok
5. A material through which electrons DO NOT easily flow is a (n) : L; iS&)\iM
a. Conductor ¢ Jinsulator
b. Fuse d. transformer - v%‘ﬁ-«’:‘“
— Plagwe
6. as <
. Jos d
No chargeNs mofing through the glectroscope o ERY
There is statiC€lectricity in the ectr]oscope
7. (4 Lightingis )
a. A build up of neutrons ¢. a high-voltage electric current
b. Harmless large discharge of static electricity
8. In the equation for Ohm’s law, what does “I”” represent?
a. impedance ¢. impulse
b. resistance urrent
Completion
Figure 7-1

O O

O
1=

Firﬁuit A Circuit B

10. In Figure 7-1, circuit is wired in parallel,

11. In Figure 7-1, circuit represents the way homes are usually wired so that when one part of the
circust is interrupted the entire circuit is not broken.

[2. InFigure 7-1, circuit f/gf" is the type of circuit that causes an entire string of decorative lights to
go out when one of the bulbs burns out.

9. I Figure 7-1, circuit Ifk is wired in series.




Compiletion

Measurement Unit Symbol
13, fesiShan e Ohm Y
14. Electrical power WarTS P
15. Voltage difference VAL \4
16. Lt veni- Amperes T

40. What is the current flowing through this circuit?

O v 5
W) T x4
15002 ESO ” ..._.L """"E @ jre

{0 vV 2
20V /2
| L= 120 G‘ji Iso | lxoe
= 0 1200
41. What is the power consumed by the light bulbig this circuit? i %0'“"?3 P

42. The illustration shows a C :

542 &2

broken circuit
open circuit

a.
b.
@ parallel circuit
. series circuit

43. The total current flow in this circuit is

a,

b. 096A
c. A

d 19A



Part |. Solve all of the following problems using Ohm’s Law and your Power Equation
23. A circuit has a resistance of 5Q0. What voltage difference will cause a current of 2.5 A 1o flow in the circuit?

Formula Set Up & Splve Answer

V= T2 EX

00084 XS I 5.

= —= d. T No WD

V= Qs.ﬁ_} Cash) =
24. The circuit in an appliance is 8A and the voltage difference is 120V. How much power is being supplied to the

appliance? o~
Formuyld N Set Up & Sobf€ Answer._

N

\

N

25. What is the current into a mi

crowave oven that requires S00W of pcmae:mf

the voltage difference is 120V?

Formula T

Set Up & Solve

N Answer /7 N\

N

26. What is the voltage in a dry;Piﬁhg dryer uses 4200 W of power when plu

Formula

. Set Up & Solve

ood Thto 2 I)-A wall outlet?
e

nswer

N

D

27. What is the cwrTent Titatpaster if the toaster uses 7500 W of pm‘}.@r}p@gged into a 110-V wall outlet?

Formuta

Set Up & Solyg

Answer

N

28. This diagram represents a closed circuit. How much current flows through this circuit?

R=60Q

i

jay
L

Janps




Part Il. Answer the following questions about Circuits § ,

38. A path that allows only one route for an electric current is called a

M —(O—

-/

— O o

- 1

Circunit A Circuit B
39. Circuit is wired in series,
40. Circuit 15 is wired in parallel.
41. Circuit ) represents the way homes are usually wired so that when one part of the circuit is
interrupted the entire cirguit is not broken.
42. Circuit is the type of circuit that causes an entire siring of decorative lights to go out when one

of the bulbs burms out.
43. This diagram represents a closed circuit with three light bulbs and a 10 Volt battery. If bulb #3 burns out in the circuit,

what will most likely happen?
10V
—|1}1]1

Bulb 1 (}@ +)Bulb3
f‘a
&

Bulb 2

44. Which is the correct diagram for a parallel circuit with three light bulbs powered by a 24-V battery?
.
24V_|_

R
“ @ =

S

A0S LoeAG

17

24V




The diagrams represent two complete circuits. A 9-V battery is connected to two light bulbs as shown.

45. Which statement best describes what will happen?
a. the light from circuit B will be dimmer because each light bulb must share its current with the other light bulb
b.  the light from circuit A will be brighter because each light bulb adds its current to the other light bulb
the light from circuit B will be brighter because each light bulb has a direct path to both poles of the battery
@ The light from Circuit A will be dimmer because each light bulb has a direct path to both poles of the battery.

glectrons have only one path at all times
‘current values are different at various points in the circuit,
Telectrons may take several paths.
,d’&fferent parts are on separate branches.

__ 47. Which best describes a circuit igseries?
.

48. Which statement is true about parallel circuits?
a. they cease to function when one part of the circuit is disconnected.
b. they are usually called open circuits.
c. they provide one path through which current can flow.
Jthey contain separate branches through which current can flow

49. Which of the following DOES NOT provide a voltage or potential difference in a circuit?
a. wet cell C. wires
b. electrical ontlet d. dry cell or battery

50. Resistance in wires causes electrical energy to be converted into which form of energy?
a. chemical energy c. sound

b. nuclear energy @ermal energy (:\E)

51. One source of constant electric current isa _

a. transformer c. switch
@ry cell (battery) d. coulomb
52, WhieRof the follgWing is ' i : fioyit and pretei overhepting . Nchit
br ker . \/()\ \/m‘{ \/“\W
agnet d. transformer
53. Current that does not reverse direction is called .
a. ajternating current b. a fused current ¢. circuit current @urect current

i 54. Currents that reverse direction in a regular pattern is called
hlternating current b. direct current ¢. circuit current d. magnetic current




